PreCalc BC Trig Review  Name: S|

1. The area of the sector is 360 square inches and the length of the arc is 24",
(The sector is the WHOLE pie wedge, right?)

a) (No Calculator) Find the radius. 24
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b) (No Calculator) Find the measure of the central

angle x in radians. B¢ = S

c¢) Find the length of the chord:
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2. Use your calculator to evaluate each of the following over [0, 21). Be sure to
find TWO values for each:

a) cos™(~0.32) b) csc™'(-3.14) ¢) cot(7)
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3. (No Calculator) Given: siné =% (assume0<6 <% ), find each of these:

((_/—' 3 a) cosé b) sin[t%%] c) tan[6+2?”]
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4. Find the area of the shaded region below to the nearest tenth.
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5. (No Calculator) Given A ABC as shown below, find exact values for ...
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b) sin(C) (Use the sine area formula)
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8. (No Calculator) Find the exact value of 005[12] {In simplified radical form —

think of 2 angles you could subtract).
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7. (No Calculator) Find sin(A) in simplified
radical form (Use law of cosine)
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8. (No Calculator) Find the value of csc@ if GOS(9=~;—
tan@<0 ,and 0<8< 27
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9. A windshield wiper on a car is 20 inches long and has a blade 16 inches long.
If the wiper sweeps through an arc measuring 35 inches, how large an area

does the wiper clean? (Note, the bottorn 4 inches of the sector are not
cleaned by the blade).
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10. A satellite orbits the earth at a height of 4200 miles relative to the center of
the earth and travels around the earth in 90 minutes. Find the angular and

linear velocity of the satellite in radians and miles per heur:
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